NEWALL &
Spring Loaded Scale Support

Bracket Kit
Part # 600-60670

For Spherosyn / SHG Series scales over 100" of travel.
This bracket kit is intended for installations where the Reader
Head is moving while the scale is stationary.

E 3

294-36330 Spring Loaded 294-60650
Angle Bracket Double Support (1) Jacking Plate (1)
Slotted (1)

5/16-18 x 1" Socket Head Screw (2) M6 x 20 Socket Head Screw (2)

M8 x 25 Socket Head Screw (2) M6 X 20 Set Screw (4)

M8 x 16 Button Head Screw (2)

Some modification of bracketry may be necessary during installation.

NUSA_011305



NEWALL Installation Drawing
Spring Loaded Scale Support
Bracket Kit
Part # 600-60670

MID POSITION

ED-3132

SCALE GLAMP READER HEAD

APPROX100mm

SCALE ﬂ

} ) = = — —
3 8 - T - - %
Ei
I i
Spring Loaded Support o
Braocket o
&
ED-3133 - £D-3133
FIXING BRACKET 294-80620 FIXING BRACKET
DOUBLE SLOTTED BRACKET
JACKING PLATE 294-60650
A SEE TABLE FOR [MOUNTING POSITION A
]

TABLE SHOWING MOUNTING POSITION FOR SCALE SUPPORT UNIT

v o8 o FROW FIXNG BRACKET D POSITION | LEFT SE OF | RIGHT SIDE O |
[T TEFTSDE (A) — [ RICHT SIDE_(A) | OF TRAVEL (B) MID POSITION (C)MID POSITION (C!

2500mm 2 850mm 50mm - - -
3000mm 2 1100mm T100mm - - -

0.5mm 3500mm 2 1350mm 1350mm - = =

CLEARANCE 4000mm 2 1500mm 1500mm - - -
4500mm 5 T125mm 125mm 2250mm - -
5000mm 5 1250mm 1250mm 2500mm - -
5500mm 5 1350mm 1350mm 2750mm - -
8000mm 3 1500mm 1500mm 3000mm - -
6500mm 4 1300mm 1300mm - 650mm 650mm
7000mm 4 1400mm 1400mm - 700mm 700mm
7500mm ) 1500mm 1500mm = 75omm 750mm
B000OMm 4 1600mm 1600mm - 800mm. 800mm
B500mm 5 T410mm T410mm 4250mm 1a10mm 1410mm
9000mm 5 1500mm 1500mm 4500mm 1500mm 1500mm
9500mm 5 1580mm 1580mm 4750mm T580mm T580mm
10000mm 6 1420mm_& 2840mm 1420mm & 2840mm - 710mm 710mm
10500mm 6 1500mm & 3000mm 1500mm_& 3000mm - 750mm 750mm
T1000mm 5 | 1570mm & 3140mm | 1570mm & 53140mm - 785mm 785mm

NUSA_011305



